@ M1 M2 M3 M4
§ 20|a/b(Wende va |21|a/b|Wende ve |[22|a/b|Gegenwende va |23|a/b|Gegenwende ve
o |37|a/b|Doppeldreier-Paragraf ra |36|a/b|Doppeldreier-Paragraf va |37|a/b|Doppeldreier-Paragraf ra |36|a/b|Doppeldreier-Paragraf va
% 38|a/b|Schlingen-Paragraf va |39]|a/b|Schlingen-Paragraf ra |38|a/b|Schlingen-Paragraf va |[39]|a/b|Schlingen-Paragraf ra
= [41|a/b|Gegendreier-Paragraf ra |40|a/b|Gegendreier-Paragraf va |41|a/b|Gegendreier-Paragraf ra |40|a/b|Gegendreier-Paragraf va
J1 J2 J3 J4
§ 20|a/b(Wende va |21|a/b|Wende ve |[22|a/b|Gegenwende va |23|a/b|Gegenwende ve
.g 37|a/b|Doppeldreier-Paragraf ra |36|a/b|Doppeldreier-Paragraf va |37|a/b|Doppeldreier-Paragraf ra |36|a/b|Doppeldreier-Paragraf va
3 |31|a/b|Schlangenbogen-Schlinge ra |38|a/b|Schlingen-Paragraf va |[31|a/b|Schlangenbogen-Schlinge ra |38|a/b|Schlingen-Paragraf va
40(a/b|Gegendreier-Paragraf va |40|a/b|Gegendreier-Paragraf va [40|a/b|Gegendreier-Paragraf va |40|a/b|Gegendreier-Paragraf va
Jd1 Jd2 Jd3 Jd4
2 20({a/b|Wende va |[21]|a/b|Wende ve |22|a/b|Gegenwende va |[23|a/b|Gegenwende ve
& 133|a/b|Schlangenbogen-Gegendreier [ve [32|a/b|Schlangenbogen-Gegendreier [va [33|a/b|Schlangenbogen-Gegendreier [ve [32|a/b|Schlangenbogen-Gegendreier |va
3 [16] a Schlinge Rra|17| a |Schlinge Rre |17| a |Schlinge Rre [30|a/b|Schlangenbogen-Schlinge va
36|a/b|Doppeldreier-Paragraf va |29|a/b|Schlangenbogen-Doppeldreier [ra |[36|a/b|Doppeldreier-Paragraf va |29]|a/b|Schlangenbogen-Doppeldreier |ra
SA1 SA2 SA3 SA4
f 13| a |Doppeldreier Rre |18 |a/b|Gegendreier va [19|a/b|Gegendreier ve [13| a |Doppeldreier Rre
% 19|a/b|Gegendreier ve |21|a/b|Wende ve |22|a/b|Gegenwende va |[18|a/b|Gegendreier va
§ 15| a [Schlinge Rve|30|a/b|Schlangenbogen-Schlinge va [16| a [Schlinge Rra |30|a/b|Schlangenbogen-Schlinge va
20|a/b(Wende va |28]|a/b|Schlangenbogen-Doppeldreier [va |28|a/b|Schlangenbogen-Doppeldreier |va |23|a/b|Gegenwende ve
SB1 SB2
f 19|a/b|Gegendreier ve |[18|a/b|Gegendreier va
% 22 |a/b|Gegenwende va |23|a/b|Gegenwende ve
ﬁ 16| a [Schlinge Rra |30|a/b|Schlangenbogen-Schlinge va
13| a |Doppeldreier Rre |12| a |Doppeldreier Rra
€} SC1 SC2 SD1 SD2 a
§ 3 Bogenachter Rra| 4| a |Bogenachter Rre| 3| a [Bogenachter Rra| 4| a |Bogenachter Rre §
i{::_. 28 Schlangenbogen-Doppeldreier [Rva|28| b |Schlangenbogen-Doppeldreier |Lva| 8 [a/b|Dreier va | 9 |a/b|Dreier ve g
v 115 Schlinge Rve|14| a |Schlinge Rva|11| a [Doppeldreier Rve|10| a |Doppeldreier Rva| v
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